PROFESSIONAL EXAMINATION BOARD

I Professional Middle School Teacher Eligibility Test - 2018
Gbgg%fr”cj”o“on 10th Mar 2019 02:30PM

Topic:- Child Development & Pedagogy (CDP)

1) which of the following is not a level of mental retardation? / frafafaa A B aAle Hedl BT W1 qﬁ %?
1. Profound / o1&

2. Severe / ITHR

3. Savant / ﬁ'c'@?r

4.Mild / "=

Correct Answer :-

« Savant / fagart

2) which of the following is least true about the process of growth? / fafafaad a -1 q@ &1 UfhaT & IR A 990 FH I %?
1. It represents change in a person’s quantifiable characteristics. / g i B! AETHD [ARdret & gRad-T & m‘k‘f DAl %l
2. It is necessary for aspects of development. / g faerg & q&‘ﬁ & 1%‘1? icreca %I

3. It can only be assessed. / SHeRT hdol TTeholeT TohAT ST Hehdll |

4. It is not a continuous process. /ngmmﬂﬁgl

Correct Answer :-

« It can only be assessed. /WWWWWW%I

3) The system of society wherein primary power, moral authority, social privilege and control of property are dominated by males is known as
1. Masculinity/w

2. Patrilineal /ﬁ?ﬁ%ﬁ'ﬂ'

3. Patriarchy / ﬁ?ﬁlﬁ

4. Matriarchy / #ATc[HcdT

Correct Answer :-

« Patriarchy / ﬁ?{l_w

4) vocational guidance primarily helps students to: / HGHTRS mﬁ qe1 =q A ol &l e A HGG hdl %:
1. Choose a life partner/ Teh Sitdel ATl & Il

2. Choose an occupation/ Ueh 9T & TIeT

3. Solve a personal problem/ Ueh SATFAINT THEIT & FHTT H

4. Select subjects/ﬁ'q?ﬁ FT TIT FA H

Correct Answer :-

« Choose an occupation/ Teh 9 F TIT H

5) When twins are born from separate zygotes, they are called: / 9I& G_iFHT T AAM-3eTT T’Jﬁ (leﬂ'lﬁg'ﬂ') ¥ e}ET 31?’ %,?-ﬁ 3?3’ gl SITdT

&
1. Identical twins / 3TS3feder g
2. Siblings / Rafeied®

3. Spouses/Fqu'l?)'H



4. Fraternal twins / theeTol Cdled

Correct Answer :-

« Fraternal twins / ShceTol m

6) When a teacher finds diversity in the classroom, it is better that s/he/ ST T et Fam # QAfATEr gar %, al 9% Sg R % it dg.
1. Divides the class into small groups/ F&TT HT BIC 'H?ﬂ\?f # fasnoa 3

2. Categorizes the pupils according to diversity/ fafaerar & TR ﬁ@ﬁ‘l’q}f Hr Eﬁﬁ?{ FI

3. Combines all of them together/ 3oT THT I Teh TTT FaT o)

4. Sends the pupils from diverse groups out of the class/ [CIEiCT] FD:IC\%T * ﬁa}‘l’lﬁflﬁf FI F&T T T A

Correct Answer :-

« Combines all of them together/ T T I T AT e of|

7) A learning style of the students of every age are affected by their /
W 34 & onEl i & e df 39F ganrr yanfaa gl &1

1. All the above / 3udeFa Heft
2. Environment only/?}ﬁlﬁ ardraor
3. Emotions only / CCRRNCRIE

4. Sociological needs only / Had THISIRIRAN ATIIHATHT

Correct Answer :-

+ Allthe above / 3uded @y

8) An Individualized Education Plan (IEP) is: / U cafFdard et Asiar (3msddh) &:

1. A plan created for every student in a classroom/ Teh &l H Tcddh ©F & folT FATS IS AT

2. A subsection of the No Child Left Behind—Act/Tﬁ'é o gTar I Q’E—&Iﬁjﬁ'ﬂﬂ $r TH STURT

3. A contract that must be followed as specified/ Ueh 3-17133 S Afése ®7 & gree R ser afgu)
4. An outline for the general education teacher/ AT fA&T g1 & fov v T

Correct Answer :-

« A contract that must be followed as specified/ Teh 3-1@3?-1' Sraer Afése &9 & greer Far s ariRoy
9) Which of the following is a socialization agency? / R#afaf@d A ¥ FlT vH FASHHIOT T §?
1. All of the above / U Her

2. Society only / %ad TE (TfAf)

3. School only / Had Tpd

4. Family only / %ad uRaR

Correct Answer :-

« All of the above/3qli$(-r Tsir

10) Which genetic disorder is found only in females? / &¥sT T 311733@75 Q&R Faa Afgemst & g Smar &2
1. Phenylketonuria / ﬁﬂ@lﬁﬂ'ﬁ'ﬂ

2. Turner Syndrome / &oiX f&ZH

3. Down Syndrome / 313 &g

4. Klinefelter Syndrome / FellssTheel AT

Correct Answer :-

« Turner Syndrome / &R &g



11) To make socialization successful, it is necessary for parents to establish as early as possible in the infant’s life. / HATSHIOT HY
o A & o, Aa-Rar & e ag sravaw ¥ 3 Ry & Siae # F STeg ¥ STeg TN &I

1. Rules / ToaAT

2. Routine / Tt

3. Rapport / dTerdel

4. Restrictions / Ifcereit

Correct Answer :-

« Routine / fee=a

12) What animal was used in Watson’s experiment of classical conditioning? / afcHa & FaATRAST Hearufaer (RRyfAsa AT elet) F gIer
# B IEaR F 39Aer T g

1. Cat/ foeelr
2. Pigeon / e
3. Dog / T
4. Rabbit / @

Correct Answer :-

« Rabbit / T

13) Children who come from homes with unfavorable parent- child relationships tend to be ./ e o & Ara-Rar i st 1 ey

T A g A =y @ d

1. Less impulsive / raefr

2. Good at intellectual control / 3TT&> Eﬁa‘ﬁih' fa=FoT grer
3. Successful in social participation / JHIS HFfieRt & THd
4, Intolerant of others / GERI & Ufdl W]

Correct Answer :-

« Intolerant of others / GURI & Ufdl 3rgw]

14) Learner-centered education includes: / fRvareff-Ffga Rrew & A« &
1. Year-end appraisal / a§ & 3d & H;FQTW

2. Control over learning process / 38R Ufshar o fAZ=or

3. Control by the study program / 3T&JJdeT FTIHA CanT IGEEL

4. Disciplinary force / 3Te]RITHeT el

Correct Answer :-

« Control over learning process / 31T UfohaT WX foz=oT

15) Learning swimming or riding a horseis _____ learning. / GRICIE 23“1’& srafOeA__ fer Aar
1. Motor / #TeX

2. Associate / FfFAfIT (TAfATR)

3. Serial / faA® (HIRZT)

4. Problem / §HET

Correct Answer :-

. Motor / AT



16) A baby appears surprised every time her mother covers her eyes and then uncovers them. What Piagetian cognitive concept has the baby not yet

understood that makes this game so exciting? /sttmémam%a?mﬁﬁmmwﬁﬁ%aﬁ?ﬁwﬁmﬁ
2 P Reifeas SAEcA® TR & goar s aF GHST A¢ U § Y 3§ @A P SdAT AATF AT §2

1. Conservation / TX&TOT

2. Seriation / ShASCHT

3. Object permanence / ] Fuififca
4. Animism / Sfiadrg

Correct Answer :-

+ Object permanence / a¥¢ Fuifi¥ca
17) What is the study of the smallest units of speech known as? / $IT9OT (Tdier) #T FaA DI SHBAT & ICTAT FY FAT Fgl AT &2
1. Morphology / 3-1'@% ICEIC

2. Morphemes / &

3. Phonemes / Fafeam

4. Phonology / tafer =it

Correct Answer :-

« Phonology / eafe fa=mmeT

18) Which of the following is not a type of intelligence described by Sternberg? / fAFafai@d H A FleT AT TeAT SanrT giofa Th YR iﬁ'\ﬁl’ gt
14

1. Logical-mathematical element / dTfeheh-aTfOINT dcd
2. Experiential element / eJHdsled ded

3. Componential element / TC& ded

4, Contextual element / TeffT Tca

Correct Answer :-

« Logical-mathematical element / dTfeheh-3TTOTT ded

19) The earliest manifestation of inner speech in Vygotsky’s view is .] TIFIeER & AR 7 WaRs smyor A ged ggel
sffeafFa &l

1. private thought/ fasi faaR

2. private speech/ feSir #T9OT

3. social speech/ ATHATIGIR HTYOT

4. personal speech/ SfFHTT HTHUT

Correct Answer :-

« private speech/ TSl styoT

20) Which of the following is not a social motive that drives behavior? / AFAfaf@d & ¥ Fla-ur e gEnaF fARF a8 2 S ewaEr
T T HIAT 72

1. Achievement / 39cIfed
2. Power / T

3. Intelligence/ gaﬁ'

4. Affiliation / HFeeteT

Correct Answer :-

« Intelligence/ gaﬁ

21) Which American psychologist developed psychological connectionism — the belief that connections are formed between perceived stimuli

and emitted responses? / fF® 3ANE AAdTIAF & AadTIAF atae RAFERT 7T - I8 R § & @9y, FR¥T 3o« ik



Scaford yfafkant & &g aaa
1. Jean Piaget / Sl sy

2. Francis Galton / $hfohd IreceT

3. Edward Thorndike / VS8 ATISISh
4. Charles Spearman / e TIRRAF

Correct Answer :-

« Edward Thorndike / USGS UT1S5H

22) From Big five personality dimensions, behaviors such as speaking fluently, displaying ambition and exhibiting a high degree of intelligence
is ./ 93 dfT =afFaca IAAT F, URIVETE Siea, AgcaTHiaT el #a AR 3T FTaX T e F1 g A F1 qawR
.l

1. Extraversion / Eﬂ%ﬁ'@?—ﬂ

2. Openness / TISCIfF (3TeTa1d)
3. Conscientiousness/ FcicT eSS

4. Neuroticism / naﬁ%agew

Correct Answer :-

« Conscientiousness/ FccT ST

23) Attribution theory is a theory proposed by: / oMRIYoT Rigtia (vdegere LaY) & g garr sfauifed frar
1. Jean William Fritz Piaget / SiieT faferaer freer f=mer

2. Bernard Weiner / 818 faeix

3. B.F. Skinner / 1. T%. f&weR

4. Abraham Maslow / 3TTgH HTEAT

Correct Answer :-

« Bernard Weiner / 8178 fasi¥

24) According the Vygotsky, the following are transmitted from generation to generation, except i T:IETﬂT\"W& *® YR,

P! Biga: FHafafad fid 3 i 9@ saaRa s € |
1. Beliefs / &TROTT

2. Values / qe

3. Ignorance / 3Tl

4. Traditions / TRFERTT

Correct Answer :-

« Ignorance / 37Tl

25) Fraternal twins are born of from __. / YIq-gHS (M‘vfﬁ ﬁ’f’x‘l) a1 g gl
1. No ovum / Dl f&F eI

2. one ovum / Teh 3-131'0;[

3. two ova /ar 3-1?='I'U;I'

4. one sperm / Ueh [hIV]

Correct Answer :-

. twoova/a‘flﬁgl'ul

26) What concept denotes the belief that one can effectively produce desired outcomes in a particular area? / Fl @ rguRon W Qg N ARG FI § A
Fi§ A &7 #§ qifda aRome wiea T Fwar §72



1. Self-efficacy / ¥a-FHTGRIRAT
2. Self-knowledge / 3TcH-21TeT
3. Self-esteem / 3TcH-HFHTT
4. Self-conception / TI-THehedelT

Correct Answer :-

« Self-efficacy / FI-THTGHRIRAT

27) Brainstorming as a technique helps to improve in the learning process. / T Tdhelldh & ® & AUR Fya (@ TifHT) ¥ A A gfhar &
F g TN F Acg Ao ¥

1. Skills / @terer

2. Language / &TST

3. Creativity / TdeIlcdhdT

4. Critical Thinking / 3Tgel Rider
Correct Answer :-

e Creativity / {delTcahdr

28) Play way method of teaching has been emphasised in the scheme of the education of : / fRi&or ¥t @« fafy

R IR 21

1. Naturalists / ‘Zﬁfﬁﬁ'l’ff

2. Realists / T2TaTEr

3. Existentialists / 3ff&@ard!
4. Pragmatists / mﬂ—m"r

Correct Answer :-

 Naturalists / ‘;I'fﬁﬂ'lﬁ'

29) The least effective method to attract students’ interest and attention is: / BEl &1 ¥ 3R A refid we & ﬁl’q I HH YT
T B:

1. Lecture method/ earearT afer

2. Role play method / S@W ety fafer
3. Discussion method / TaT f3f&r

4. Game method / @er fafer

Correct Answer :-

« Lecture method/ SaT&aT fafer

30) peemphasizing rote learning is a part of: / STHPHATZNT el RATH A= &1 Te R T
1. Special needs education / oy srawues fRren

2. Learner-centred education / TRr&freff (FF-‘IT) Ffga e

3. Progressive education / 9aTfarefrer fover

4. Interactive education / TREIR TAGT

Correct Answer :-

« Progressive education / gatfarefer fRver

Topic:- General Hindi (L1GH)

1) 39 & g TH a9 € Al |
W SN, qH Feet g Ul , S Ser-3fer AT wARN |



v SN, g7 A g e, S S &t R e
v SN, g A g umm , S Wl frea gewm |
ve] S, T I Tl & o, e sfET HYOYew |
2

& At g B w3 A

T fars TEam A A oy et |

SRt B ST #3 @t a1 W et ey |

ATs 3T F AT MG FE AT TN

AEE FAIE ferad weer A b |

Ffe Werg Fog ¥ g sRehs @ @t At

IUGFT YSIRT FY GgH A IS I dTek WA F el qd30]

WA F F FTAR 3 & T F HFF AT FT FoAI0T g1 A1 82
1. 3

2. $ATER

3. 9%

4. R

Correct Answer :-

2) 39 FF g¢ WA A7 € anf |

W SN, qH weet & Ul , ST SHer-3ier AT wAEN |
v ft, @ U & &F AT, S Riaaa @g TR |
wop Sft, @ Ao & anelr , S Sifar @t Rer el
wop Sft, A 7 4w , SR WAl Braa gewm |
we) oMY, G g Tl g g, el s Y Yem |
2

& are g R w3 A

T fars EEaT AT A oy et |

ST BT ST F3 A ar 9T gt et |

ATs 3 T AW MG Fg T TN

e Fere foretae weer d7 @t |

Ffe Wery gag ¥ wog ehes @ @t At

SUEFT YSIRN FY GG A I T T TA FT e qd30|
WoT: FA F HTAR 9raT 39 garw § et e v oft 7 = wwa 2
1. el S @

2. 3491 9T HHA §

3. T & TR E

4. @ & FHhA &

Correct Answer :-

o 39 9 " £

3) 39 FJ T TA AW € AE |

W SN, qH Geet g Ul , S Sfer-afer AT WA |
v SN, qF O a9 g AN, SN RraEa @ 99T |
v SN, g7 A g\ areh , S e et R e |
W SN, qE A gw umm , S W e gewn |
wop Sft, @ g el g e, O afFT wY Yew |

2



&l arer qar R FwI3G A

T fare Eam AT A oy aY |

ST B ST F3 @t ar et @t |

A3 3w AW MG FEg F TR

AT FAIE ferae wuer A @ |

Ffe ey gag ¥ wog eRes @ @ At

I94FT YSI F Gga AT IF T T WA F el qA30|
weeT: ‘g o it |t o a2
1390 & &5 e

2.8 St gE% e ¢

3.8R St & |9 T© dord & ST Bl
4,39 FT A1 &R 8l

Correct Answer :-

« 8RS & @9 Fo Fa g1 S g

4) 39 F& gE X T © an |

w3 Sft, G Taet & Wit , SN T30 A @ |
v SN, qF w7 ¢ AT, SN Rraaa @ 99T |
wop Sft, o Aok g A, SR Sfr @t R el
w3y Sft, g AR g amem , Y AR Brea gewm |
w3 SN, F g Tl g g, W e S en |
2

el AT g R F3q F |

TiiT forare] aEm$am AT A o W

STt B ST F3 @t ar 9 et e |

A3 3 F AU ARG FE AT TN

aeE FAIE freas wuer A7 @ |

Hfe Wery Fog ¥ wag gRans F @t & 0

F94FT YGINT F GgaT AT I3 T T WA F el qA130|
WeeT: ‘@I’ UAsq FT F4AT 7Y 72

1. Trarg

2,911

3. e

4. 3Tar

Correct Answer :-

5) 3@ F¥ g¢ WA AW € anf |

W SN, qH deet g Ul , S Ser-3fer o wHAEN |
W Sft, qF U a1 g AN, A RdEa 9g gwRT |
wop Sft, o Ao & anel , Sy Sfr @t R el
W SN, g Al g\ umm , S Wl frea gewm |
wo) SN, qF g Taml g g, Ot s Y e |
2

&l o ger R FIF F |

T forare] TS AT A oy X

SRt B ST #3 @t a1 W et et |

ATs 39 F AT MG FE AT TN

aeE FAIE forerad wuer A @ |



Ffe Werg gorg ¥ g ehehs F @t At

IUGFT YGART H GgaT A IS T dT TRA F el qd30
WA AT FAG AT T 7 T A AN F F F w0 A §2
1. 39T H ¥ FS 6T

2. 39T SRR T I @

3.5 Qe ¥ 3oTehT fATar o
4.@?%W$ﬁﬁwm§mﬁmmsﬁm
Correct Answer :-

« SN 3 HA HIIAT FT IR I 37 aifenat o g
6) ¥ F& g T A € Awl |

W SN, qH weet g Ul , ShY Sfer-3fer A wARN |

W SN, qF O a9 g AN, N Raga 9 99N |

wop Sft, @ Ao g anlr , S Sfar @t Rer el

wop Sft, o A 7 e, SR Wl Braa gewm |

we) M, G g Faml g g, Ol sl Y Yer |

2

& o g R w3 A

T fars TEam A A oy 9t |

ST BT ST F3 At ar 9T gt et |

ATs 3 F AT MG FEg AT TN

A FE R wver 3 at |

Hfe Werg gog ¥ g eRehs @ @t At

IUEFT YSIRT FY GgF A IS T T WA F e qd30]
U SATAT & AT 9T FAT M & TET 2

1. A%e

2.9

3.89

4. Sel?u

Correct Answer :-

7) 39 H& gE T A © anf |

W SN, qH dae g Ul , S Sfer-afer I WA |
W SN, qF u a9 g AN, SN RaEa @ 99N |
wop Sft, @ Ao g aneh , SR Sfa @t R el |
wop Sft, g A g amen , S W fBraa gemm |
ws) SN, 7 g Tl g g, Sl s Y Yem |
2

&l e qar R FI3g w |

T fare Eam AT A oy 9t |

et B St F3 @t ar W get et |

A3 39 F A Mg FE T TN

AT Fw feraeg wuem & avt |

Ffe Werg Feg ¥ Fag RNz F @t &

39T GGINT F UGHF ol & ST aTel WA FT el qaA1STI
W AR qEd B AW € T FA oo 82

1. WA



2. nfolera
3. #iateT
4.5

Correct Answer :-

8) ¥ ¥¥ & WH A T© anh |

w3y Sft, G TaeT & IRt , ST T30 ar @ |
v SN, qF w7 g AN, SN Rraaa @ 99T |
wop Sft, o Ao g A, SR Sfr @t R el
w3y Sft, g Al g amen , Y MR Brea gewm |
w3 SN, A g Tl g g, W s S an |
2

&l oo g3 Ry w3 FE |

e fary] ET$aT AW A oy W

SRt B ST F3 @t ar 9 et e |

A3 3 F AU ARG FE AT TN

aeE FAIG feas wuer A7 @ |

Hfe Wery Yo ¥ Fag gRals I @t & 0

IULFT YGINT F Gga AT I3 T T WA F el qA130|
veeT: I $raT e § A o s @A §2
1. SiaTeT & FHATT

2. 3THATT & FHATT

3. ¢Rel & FAT

4. fondlr AR & qA

Correct Answer :-

« R8T AR & FAW

9) ¥ F& & T A € awl |

W SN, qH Feet g Ul , S Sfer-3fer AT wHAEN |

W Sft, qF U a1 gA AN, A Raaa 95 gwRT |

wop Sft, @ Ao & Al , Sy Sfr @t R el

v SN, g A g umm , S Wl frea gewm |

ve] S, T qF Tl & g, ¥ sfEd wYOYew |

2

&l o ger R FIF FY |

T foare] TS AT A oy X

Sy Bifr ST F3 @t ar woggt et |

ATs 3 F AT MG FE AT TN

AeE FIE feras weer A @b |

Ffe Werg Fog ¥ g eRehs @ @t v

FUGFT YSART FY Gga A IS I dTk WA F e qd130|
9o I oparareT dic § oY st fREdY TRE & S IJUAw dic H AR TEaT &7
1. 3

2. TR

3. I3

4. 7

Correct Answer :-



10) 39 F& g TH a9 € anl |

W SN, qH et & Ul , ST Ser-3fer AT WA |
v ft, @ U & &F AT, S Riaaa ¥ TR |
wop Sft, & A g aneh , S Sf @t R el |
wop S, o A g umm , S Wl e gewm |
we) oMY, G g Tl g g, Ol s Y Yem |
2

&l e gar R FI3G # |

T fars EaT AT A oy a¥ |

ST BT ST F3 At ar 9T et et |

ATs 3 Y AT MG Fg T T BN

e Fee foetee weer d7 @t |

Ffe Wery gag ¥ wog ehes o @t At

IUEFT YSIRN FY GG A IS T T TA FT e qd130|
wooT: I srrarer Al § o o frwd @A 87
1A & AT

2. 41 & @AW o A R §

3. TEr F qARA

4.8 & HAWT

Correct Answer :-

o U F T forad Al R §

11) ¥ ¥ g T A € Al |

W SN, qH daeT g Ul , S Sfer-afer AT WA |
W SN, qF ua a9 g AN, SN RaEa @ 99N |
v SN, g7 duw g\ el , S S et R e |
Wiy Sft, @ Al g amen , S W fraa gemm |
v SN, & o wanh g g, W afida St Yew |
2

&l arer ggr R FI3g w |

T fare EEaT AT A oy a¥ |

Tt B ST F3 ant a1 o el &t |

s 39 F Av Mg FE T TN

AHET Felrw foatag quar d7 @ |

Ffe Werg Fog ¥ Fag gRens F @8t & 0

39T GGINT F GGHF ol & ST aTel WA FT el qA1STI
W Afg s & € At s fredr @ 87
1. RRmer fr |E

2.9 & TE

3. ST T TRE

4. 91T S TG

Correct Answer :-

o 9T B e

12) 39 & g A A € Al |

W SN, qH deeT g Ul , Y Sfer-3fer AT WA |



v SN, g7 A g e, S S &t R e
wo SN, g A g umm , S Wl frea gewm |
wo) SN, 7 g Faml g g, Ol sl Y Yer |
2

& At g R w3 A

T fars TEam A A oy« |

SRt B ST #3 @t a1 W et ey |

ATs 3 F AT MG Fg AT T BN

A Fw ftae wuar 3 @t |

Ffe Werg Fog ¥ g shehs @ @t At

IUGFT YSIRT FY GgH A IS I dTek WA F el qd30]
YT U SR o9 Gl Y HfFT T W7 9Fd W I AT § aF F47 g 872
1. STedl &1 3R S g

2. T el w7l gean!

3. 391 ST 87 Sl &

4. 31 BT 95 ST B

Correct Answer :-

13) 39 F& g A a9 € dnl |

W SN, qH Feet g Ul , SN SHer-3ier AT wAEN |
v ft, @ U & &F AT, S Riaaa @g TR |
wop Sft, @ Ao g anelr , S Sfar @t Rer el
Wy Sft, g Al g 4w, S Wefe e gewm |
we) M, G g Tl g g, Ol sl Y Yem |
2

¥ o g R w37 A

T fars Eram A A oy 9t |

ST BT ST F3 At ar 9T gt et |

ATs 3 T AW MG Fg T T N

e Fere foretae weer d7 @t |

Ffe Wery gag ¥ wog ehehs o At

SUEFT YSIRN FY GG A I T T TA FT e qd30|
We: S U A Hid  Sad 1 FW awyqr F1 qvia Far 7
1. 99 #Fd W qfFT # @7 9 @E § 96 e g
2. 394Fd H § HIE FAGT

3. 519 87eFcT ART X & FRTer gr e &

4. T AR  FT R H g

Correct Answer :-

. 9 HFT W AfFd F @1 Q0 e § GG A1 B
14) = ¥ g¢ TH A € Al |

W SN, qH Geet g Ul , S Sfer-afer AT WA |
v SN, qF O a9 g AN, SN RraEa @ 99T |
W SN, g7 duw g\ areh , S e &t R e |
w3y SfY, qF A g7 umm , S WAl e gewm |
we] S, T A T@ & e, el sfEd HYOYem |

2



&l arer qgr R FwI3g w |

T fare EaT AT A oy et |

ST B ST F3 @t ar 9 et @ |
A3 3w AW MG FEg T TR
AT FAIE fead weer A @ |

Ffe W Fog ¥ Fag gRans F @t &
I94FT UG F Gga A IF T T WA F el qA30
wear: I s WeA § o s w2
1. 3mr

2. 9=y

3. T

4. HeTST
S

Correct Answer :-

15) 3@ H& & WA A € an |

w3 Sft, G TaeT & Wit , ST T30 A @ |
v SN, qF w7 ¥ AT, SN Rraaa @ 99T |
wop Sft, o Ao g A, SR Sfr @b R el
w3y Sft, g AR g amen , Y MR Brea gewm |
w3 SN, A g Tl g g, S e S en |
2

&l A g R w3 F |
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Topic:- General English(L2GE)

1) Read the following passage and answer the question given below:

I've helped at a playground as well recently, and I've noticed that the boys take up all the space. The girls end up playing in a little space, they have a
house corner, and the girls end up in the house corner, or over in the book corner, which are clearly defined spaces where boys don’t run around,
whereas the rest of the space is taken up by boys running around attacking each other, being Superman or Batman. I think generally that the way
boys play tends to be more um, aggressive, perhaps even more violent than the way that girls play. Boys, for example, tend to play games which
involve competition, particularly using some kind of weapon, a sword or a gun. On the other hand, girls tend to play more cooperatively, and I think
more peacefully. I think boys tend to like playing war games, doing a lot more sort of physical things, whereas girls will tend to play a lot more games
like skipping and those that are focused around babies and teddy bears.

When did the writer find out that boys take up more space?

.

. While conducting a research

N

. While conducting a workshop

w

. While teaching at a school

N

. While helping at a playground

Correct Answer :-

®  While helping at a playground

2) Read the following passage and answer the question given below:

I've helped at a playground as well recently, and I've noticed that the boys take up all the space. The girls end up playing in a little space, they have a
house corner, and the girls end up in the house corner, or over in the book corner, which are clearly defined spaces where boys don’t run around,
whereas the rest of the space is taken up by boys running around attacking each other, being Superman or Batman. I think generally that the way
boys play tends to be more um, aggressive, perhaps even more violent than the way that girls play. Boys, for example, tend to play games which
involve competition, particularly using some kind of weapon, a sword or a gun. On the other hand, girls tend to play more cooperatively, and I think
more peacefully. I think boys tend to like playing war games, doing a lot more sort of physical things, whereas girls will tend to play a lot more games
like skipping and those that are focused around babies and teddy bears.

By what means do boys usually show their competitive but violent nature?
1. By using wrestling

2. By using fists

3. By using weapons

4. By using their legs

Correct Answer :-



* By using weapons

3) Read the following passage and answer the question given below:

I've helped at a playground as well recently, and I've noticed that the boys take up all the space. The girls end up playing in a little space, they have a
house corner, and the girls end up in the house corner, or over in the book corner, which are clearly defined spaces where boys don’t run around,
whereas the rest of the space is taken up by boys running around attacking each other, being Superman or Batman. I think generally that the way
boys play tends to be more um, aggressive, perhaps even more violent than the way that girls play. Boys, for example, tend to play games which
involve competition, particularly using some kind of weapon, a sword or a gun. On the other hand, girls tend to play more cooperatively, and I think
more peacefully. I think boys tend to like playing war games, doing a lot more sort of physical things, whereas girls will tend to play a lot more games
like skipping and those that are focused around babies and teddy bears.

What do boys’ games centre round?
1. Physical strength

2. Mental strength

3. Climbing ability

4. Athletic ability

Correct Answer :-

® Physical strength

4) Read the following passage and answer the question given below:

I've helped at a playground as well recently, and I've noticed that the boys take up all the space. The girls end up playing in a little space, they have a
house corner, and the girls end up in the house corner, or over in the book corner, which are clearly defined spaces where boys don’t run around,
whereas the rest of the space is taken up by boys running around attacking each other, being Superman or Batman. I think generally that the way
boys play tends to be more um, aggressive, perhaps even more violent than the way that girls play. Boys, for example, tend to play games which
involve competition, particularly using some kind of weapon, a sword or a gun. On the other hand, girls tend to play more cooperatively, and I think
more peacefully. I think boys tend to like playing war games, doing a lot more sort of physical things, whereas girls will tend to play a lot more games
like skipping and those that are focused around babies and teddy bears.

How does the author describe the way the girls play?
1. Intelligently

2. Peacefully

3. Actively

4. Gently

Correct Answer :-

®  Peacefully

5) Read the poem and answer the question given below:

The gentleman who cuts my hair

Is such a very pleasant man.

He looks so smooth and neat and bright
His hair is black, his coat is white,

All spick and span.

I sit before a looking-glass

And when he's ready to begin

He wraps me in a funny cape
And ties it on with strings of tape
Beneath my chin.

His scissors crunch along my neck
So cold, and oh, so very near,

I'm sometimes just a bit afraid
That if I moved the slightest shade

He'd snip my ear.

I feel the hair go tickling down,

It often makes me want to sneeze;
And when I've had a scent spray
He brushes all the bits away,

And then I know he's going to say,
'A shilling, please!"



What is the poet afraid of?

—-

. the scissors

N

. the knife

w

. the blade

N

. the razor

Correct Answer :-

o the scissors

6) Read the poem and answer the question given below:

The gentleman who cuts my hair

Is such a very pleasant man.

He looks so smooth and neat and bright
His hair is black, his coat is white,

All spick and span.

I sit before a looking-glass

And when he's ready to begin

He wraps me in a funny cape
And ties it on with strings of tape
Beneath my chin.

His scissors crunch along my neck
So cold, and oh, so very near,

I'm sometimes just a bit afraid
That if I moved the slightest shade
He'd snip my ear.

I feel the hair go tickling down,

It often makes me want to sneeze;
And when I've had a scent spray
He brushes all the bits away,

And then I know he's going to say,
'A shilling, please!'

How does the cut hair feel while falling down the back?
1. tickles

2. cascades

3. brushes

4. tumbles

Correct Answer :-

® tickles

7) Read the poem and answer the question given below:

The gentleman who cuts my hair

Is such a very pleasant man.

He looks so smooth and neat and bright
His hair is black, his coat is white,

All spick and span.

I sit before a looking-glass

And when he's ready to begin

He wraps me in a funny cape
And ties it on with strings of tape
Beneath my chin.

His scissors crunch along my neck
So cold, and oh, so very near,

I'm sometimes just a bit afraid
That if I moved the slightest shade

He'd snip my ear.

I feel the hair go tickling down,

It often makes me want to sneeze;
And when I've had a scent spray
He brushes all the bits away,



And then I know he's going to say,
'A shilling, please!’

Where does the poet sit?
1. on astool

2. before a group of people

3. before a mirror

4. in a chair beside another customer

Correct Answer :-

® before a mirror

8) Read the poem and answer the question given below:

The gentleman who cuts my hair

Is such a very pleasant man.

He looks so smooth and neat and bright
His hair is black, his coat is white,

All spick and span.

I sit before a looking-glass

And when he's ready to begin

He wraps me in a funny cape
And ties it on with strings of tape
Beneath my chin.

His scissors crunch along my neck
So cold, and oh, so very near,

I'm sometimes just a bit afraid
That if I moved the slightest shade
He'd snip my ear.

I feel the hair go tickling down,

It often makes me want to sneeze;
And when I've had a scent spray
He brushes all the bits away,

And then I know he's going to say,
'A shilling, please!'

What sort of person is the gentleman who cuts the poet's hair?
1. grumpy

2. lively

3. friendly

4. pleasant

Correct Answer :-

e pleasant

9) Read the sentence carefully and choose the option that has an error in it:

It cannot be forecasted how society will emerge a generation hence.
1. how society will emerge

2. a generation hence.

3. It cannot be forecasted

4. No error

Correct Answer :-

¢ It cannot be forecasted

10) Which of the following options best combines the following sentences?
The man was arrested. He had stolen the jewellery.

1. When the man was arrested, she was stealing jewellery.



2. The man who had stolen the jewellery was arrested.
3. The man after stealing the jewellery was arrested.

4. The man was arrested but he had stolen the jewellery.

Correct Answer :-
« The man who had stolen the jewellery was arrested.

11) Read the sentence carefully and choose the option that has an error in it:

He found an interesting lithograph as the one he had seen on his trip to Spain.
1. as the one

2. He found an interesting lithograph

3. to Spain.

4. had seen on his trip

Correct Answer :-

e astheone

12) Fill in the blank with the correct option in the given sentence:

The parents asked the principal to his decision about the Sports Day.
1. reconsider

2. consideration

3. considered

4. considerate

Correct Answer :-
« reconsider

13) Choose the right tag:

He is coming here today, ?
1. has he?

2.isn't he?

3.is he?

4. doesn't he?

Correct Answer :-

e isn't he?

14) Choose the most appropriate determiner in the given sentence.

Hehas __ of money. He owns two apartments.

1. much

2. some

3. afew

4. alot

Correct Answer :-

e alot

15) Fill in the blank with the most appropriate preposition in the given sentence.
What do you do the day?

1. before



2. after

3. during

4. towards

Correct Answer :-

e during

16) Fillin the blank with the correct option in the given sentence:
Many astronomers gathered in the observat--.

1. --ants

2. --ory

3. —-ions

4. --ence

Correct Answer :-

17) Fillin the blank with the correct option in the given sentence:

Fuel --jection means that fuel is forced into the combustion chambers of an engine.
1. re--

2. inter--

3.in--

4. pro--

Correct Answer :-

18) Choose the appropriate antonym for the highlighted word in the given sentence.

You can do it leisurely because the deadline has been extended.

1. intermittently
2. lackadaisically
3. hastily

4. sporadically

Correct Answer :-
o hastily

19) Choose the appropriate prepositions for the given sentence:

‘Macbeth’ is written Shakespeare; you will find more his plays the library.
1. over, about, at

2. against, on, in

3. for, in, at

4. by, of, in

Correct Answer :-
« by, of, in

20) Choose the appropriate synonym for the highlighted word in the given sentence.



The wise judge tempered justice with mercy where it was deserved.

1. wiped away differences
2. wielded power
3. made less severe

4. proved to be partial

Correct Answer :-
« made less severe

21) Choose the appropriate pronouns for the given sentence.

Ram is the cause of all miseries.
1. yourself, your

2. himself , theirs

3. himself, his

4. herself, our

Correct Answer :-
« himself, his

22) Choose the appropriate option that rewrites the given sentence in its passive voice.

Many young men from our village fought corruption.

1. Corruption was fought by many young men from our village.

2. Corruption is being fought by many young men from our village.
3. Many young men from our village fight corruption.

4. Many young men from our village are fighting corruption.

Correct Answer :-

« Corruption was fought by many young men from our village.

23) Choose the appropriate tenses to fill in the blanks in the given sentence:

Aparna very happy at the moment.
1. will not seem

2. doesn’t seem

3. didn't seem

4. was not seeming

Correct Answer :-

« doesn't seem

24) Choose the appropriate conjunction for the given sentence.

You had misbehaved; , Yyou are being punished.
1. but

2. however

3. therefore

4. because

Correct Answer :-

« therefore



25) Choose appropriate articles for the given sentence:

__ housing provided includes __ basic or standard dormitory accommodation offered by __ university.
1. no article required, a, a

2. A, no article required, an

3. The, the, the

4. the, a, no article required

Correct Answer :-
* The, the, the

26) Choose an appropriate modal for the given sentence:

“You've never heard of Sachin Tendulkar! You be serious,” said my friend.
1. mustn’t
2. aren’t

3. hadn’t

4. can’t

Correct Answer :-
e can’t

27) Choose the option that substitutes the given phrase appropriately.

A person who fits and repairs pipes
1. Mechanic

2. Lumber jack

3. Blacksmith

4. Plumber

Correct Answer :-
e Plumber

28) Choose the option that best transforms the sentence into its Indirect form:

My employer said, ‘I hope you will not be offended if I tell you that in my opinion, you will do better in some other kind of job.’
1. My employer said hoping | would not be offended if he told me that, in his opinion, | would do better in some other kind of job.

2. My employer was hoping that | would not be offended if he tells me that, in his opinion, | would do better in some other kind of job.

3. My employer hoped | would not be offended if he told me that, in his opinion, | would do better in some other kind of job.

4. My employer hoped he would not be offended if i told me that he would do better in some other kind of job.

Correct Answer :-

« My employer hoped | would not be offended if he told me that, in his opinion, | would do better in some other kind of job.
29) Choose the option that best explains the highlighted expression:

I can never play jokes on people because I can't keep a straight face.

1. act well

2. can’t say the punch line well

3. look serious

4. remember the joke well



Correct Answer :-
« look serious

30) Change the given statement to indirect speech.
I said, "I must finish the work in time.”

1. I said that I must finish that work in time.

2. I said that I finish the work in time.

3. Isaid that I have to finish the work in time.

4. I said that I had to finish the work in time.

Correct Answer :-

o I said that I had to finish the work in time.

Topic:- HINDI (HIN)

1) fareror Wera® AT FT TAE FA FHT €A o Afew B aw -
1. 390 |l

2. Faer Reror g & fav aver gorr aar 3ugea 8l

3. el FHUT § gEefaa gl

4. Fael FET & A Jadt Hr wiea 7 g 8l

Correct Answer :-

« 3Wd |l

2) Y gEdt & Anr A , 37¢ T99 §:@ 3OMA 95T g1 aFd A FIT AT HEET WA RN ?
1 3R e €

2. $rs 3oTerd §

3. ol fom §

4. %i¢ foord §

Correct Answer :-

3) fFw fASTOT {F & HTEOT F qoF F IR AW Pl 32

1. qot & 3fer #r 3R

2.7 ¥ 3T & 3R

3. v & g & IR

4. AFTHT & foatst 1 3R

Correct Answer :-

o 3T ¥ ferHer @ 3R

4) fFE YFR & Tal & Holdalsd & Sea@ FAT IATAT 82
1. aiRae a3

2. SfFderd a7

3. 3AigaTiRe 99

4, TEHRY 97

Correct Answer :-

o WHRT 9T

5) g1 ¥ TFW AfFdcd &1 ATH S AcH ¥ ST §37T 82



1. g TR
2. AYgeT Ther
3. FheX gRIHA
4. g TTdR
Correct Answer :-
. e ERET
6) zo7d ¥ FhE UPR & o & wedh a1 faard g &2
1. IIRER® a7
2. Highah I
3. Al & 3des I
4. 395 | HIS TG

Correct Answer :-

7) 3is Gy Rrwd qErr AT awes §7
1. AlgeT THA

2. 3UGATY 37eF

3. 9Neig gReds

4. A gAY

Correct Answer :-
o UG 3eF
8) i ATy g fFw ey # TR ¥
LHaS
2. §aTeL®
3. SelgIETE
4. e
Correct Answer :-
. feoelt
9) ‘et @1g U5 W 3TIHFR A T ¥?
13799
2. 72 gare
3. AR R
4. HUNREEATY Y]

Correct Answer :-

10) ‘7 AR F AT wdar-ar R o sren?
1. Rvem 74

PAECIE

3. AR

4, gAY

Correct Answer :-

o GEATERT



11) ‘FdRT WST TR #' FEF ganT W a1eF 8?2
L. g AR

2. HIgeT Ther

3. 8frsH |Esdr

4. gRpoT gl

Correct Answer :-

« oA el

12) ‘wedAR Fgw e garn RfEa ey g2
1. g gETE gfaddr

2. g gReTg

3. 99 AT A

4. STel FUT HCT

Correct Answer :-

13) fAadt o frw AEW AWE F AT G @ 4T §?
1. g e Sfaady

2. Telg 9ETe gfaddr

3. el TH faady

4. FEIAR J4Te gfaadr

Correct Answer :-

14) ‘RS FRar 1 Rew Pey v 4o § Ty & 3w
1. oifgfeas ey

2. WelleAs faaer

3. golellcAs faeer

4, gAER faser

Correct Answer :-
. HfRfeys ey

15) ‘gg F9AT R o7 3R 9§ 3@ AT AT F By a9 F TR @ A F FlT @ @2

1. 98 Fehell ATEAT AT 38 fHer T

2.9 9T <A1EAT AT 38 el |

3.9 JUAT AT AT 3& FAr Her |

4.9 S AT Tigar o1 38 ar fAe

Correct Answer :-

« T8 S T9AT AEAT AT 34 a1 fAer I

16) ‘Fit faer slgfe SeTa @ AT AT FIT F AT T & wFagy §9 ¥ a Fla F FEy Fgen §2
1. HTaTeHS fAeer

2. 3cEITcHS fAeer

3. AUTATCHS foaer

4. fFaricas fAey



Correct Answer :-

. oTaTcHS forer

17) ‘qANETE eE FT FEYYH Sea@ ‘FAIAE THaAre ofdw faaw # gam R, g9F fFeuaw -
1. (AT T

2. g gAR areradY

3. JTATd THA el

4. gicaeeic gReG acade ‘3T’

Correct Answer :-

18) W Beg & Wedd WOT A FA: W #9707 AR A F o % g § qUT W AF Wor F qoit Hr FEAT 23 el 72
1. gaE g3 oow

2. AAIwE, {AAT Beg;

3. Al | T

4. fRlie waw B

Correct Answer :-

o HAIG HIAT Bog

19) FreYEe ed ARt ARl Rraedsy &1 fcer fFa goR & fay §2
1. S ATcASF faey

2. FellcA® fAee

3. gaTaRoT fowe ey

4, dfora faeer

Correct Answer :-
20) B 1943 §. # IAY IR FUIRA ‘AR Foas & AT # ¥ Fla-@ Ry 6 AW gaRa a8 67

1. FHER AT

2. FERATY 3IyaTel

3. AfFEg o

4. IR HIOT TS

Correct Answer :-
o HERATY AT
21) BTl F YA AGHTT F AT F HTE TG F AR, ATfF -
1. BT 3A-3T9eRT HASR o FHS|
2. BT 39N sl wisasar aar T
3. B HUAT IEHE AN & T TH|
4. o1 & fau 3fReH ufhar W vd ¥ g gl

Correct Answer :-

. BEr & for 3fem ufhar W va d&s @ Tl

22) 39 g & YAF WO A 16 3 12 F a1 Ryw (3f@) 3R 28 #AEW A<t § 37 oo A Fea &
1. sl o<

2. T Beg,



3. el Tog
4. gReNfaH o

Correct Answer :-
. gRefifasr ore
23) goo Fierer ¥ 3maeTw ¢ -
1. e
2. 31 TgoT
3. eTeg I
4. yeueT fafyr
Correct Answer :-
o 3 T
24) o F 3@ & ‘Trw F1 w@wr Fw fPw R s e
L9F & R @ &9 & e
2.99 # 8 7§ Ageaqel a1 forme & AT
3. v a%q @ o &6 & v
4. YTCAHdT &7 gar formsr & fav

Correct Answer :-
o 9T H HA T Agcaqul a1 forEs & forw

25) g7 d@a # Al womae # B feg #1 gARY 7€ far 2

199 & TSl H [AEATET gl

2. 99 & 9T A

3. 99 & HETSA & T

4. fovre Rwgt & wAer

Correct Answer :-

o UF & FHMEIST H T

26) 3itqaie ve IlTaR® Fae) § RFE a6 HINT FT GAT FEAT ARC?
1. TF g $ &

2. HiSeT T

3. AT HTST

4. 3TETIT-3TT9T HINT

Correct Answer :-

27) yavEd HRar f geT ygat F @ ad 32
1. (gAY gt

2. 3YATAT & FAdIeTar

3. SigfRear &1 e

4, TEEYAIE AT

Correct Answer :-

« IGEIATET HIGAT

28) gAWT AT YAFAT F YR W A8 & HieT A & 79w 7 &2



1. A 3R 3repfEe s
2.5 3R TS ST

3. 69 3R caraEds s

4. wifgfeas 3R Sa-ara i s

Correct Answer :-

29) fFW 1T F Tog, FANT H gaeq § AR o § 3N 39% S & FA T I@T AT A WHaT 8
1. Y&y &
2. fser rem
3. TR P

4, fAse Freg

Correct Answer :-

30) srar fraror # RffeT T & qeat A gAfAA F @T w wwa Rewor ¥ -
1. AAG S TiSewoT

2. 3meafers TiveRIoT

3. Ao TfSeaior

4, FATIAERT Tioeaior

Correct Answer :-
. HAdIdaATAE giSeahror
31) sraT S IRYTFEar & a9 § -
1. SR O fATAT T AFASRRT gl
2. {19 &1 IS gAeT Fal
3. {9 & 3a9ar AR TR ) 3f=or g
4. [afaer TWI3t T SHAPRY g
Correct Answer :-
. RO FTAET f e g
32) st W@ A 9fRar & qore @duYA e s S e 32
1. g@sTeT
2. TSEHTIT
3. ATGHATT
4, TTSTHTST

Correct Answer :-

33) gt e F T o F FRATS TE o 87
1. foras Hfhamas RIfEda &l

2. T 9H sncafarara i A 8l

3. o Afe Tareey & gl

4, Sraer aiais afa d& &l

Correct Answer :-

o TSeTehT ARS TaEeT 8 8l



34) wem F gAr A 7§ FE oft wEAd T AfdE W FE o FHEAN § 9 -
1. 9% et & 3 & 3ged g

2. T & AARSH § TErTS gl

3. %eTl & T 36T dF g A 3w gl

4. 9 WE=-{Ee & 3uaeh arfed gl

Correct Answer :-

. g% Orga-faae & suAeE aifed 8l

35) TdAR # W YHR 1 09 Ued N F A0 SRR gaRT A9E g AT S 82
1. dR (Seham=)

2. 3eacair o

3. ¥ 15 uee

4. USiighel SToh

Correct Answer :-

36) Tgal & arerwl f oot Y GHFAT F TOW F AT -
1. 30T |afY|

2. el TP TSt w1 garar wiigv

3. del HiGA FeAled! TR

4. %hdel HEle Gellell =AMET

Correct Answer :-

o STET Holt

37) gfFaary f e Gl F1 Fqg eor & A ur F=w 2
1. SRR

2. HIET-HIG

3. 3TTelrdT

4. FEA-HUG

Correct Answer :-

38) wfFaaty i Ffaar R & i e frw doft F Fr 7§72
1. g&Er

2. e

3. AR

4. 3TcATTT

Correct Answer :-

39) ga@ A AT ¥ -

1 ¥ & foar g3 e
2. 91 §3T o

3. 94X o

4. oG & eI Fedal



Correct Answer :-

. eI T

)

40) frE TAMER F ‘GATAAIG FT AT TOF FgT AT §2
1. ITSATeTeT HTErT HiFersier

2. HGNEATY 31ayaret

3. AT

4. Borae arel

Correct Answer :-

41) FT # ¥ sl @ ey H RDavar ad &2
1. STTFdcd & JHIRIA

2. Boq dEyd

3. sifeafa &1 goma

4. gfaredar

Correct Answer :-

42) faFT & ¥ FIT W1 AP FT AT ALE &2
L

2. T

3. ®9 Fool

4. FUEE] 3R 3AH FIST

Correct Answer :-

o Y Fool

43) rfafa dFaat § s @ o ¥
fafR iR gv fafdwer ¥ Raemn

e et gu Rem aww § a1

zor Al aFar e § s@Afae @
#ar THRR AREar FAgT-Lafa @i

1. 989 ATfeT oG

2. BT B

3. gAfael e Toe

4. FUSTIAT Begy

Correct Answer :-

44) PFfART IFaal # Fla-ar seER 87
I & wfeT Rea

a7 3R g § g A 2

1. HTAATT HelPR

2. dCHT 3Tl

3. TEE 3P

4. 3GIELT 3ol



Correct Answer :-

45) wdt Fiaar rwrey dor fFEd g @ 82
1. g P

2. Ofeaeee §Ree arcaraeT 3

3. HicFerairer

4. FgTedT gAT

Correct Answer :-
. FgrRAr gAT
46) FATIR U9 ¥ UGS A @ & g o f [ & F Sl sgnforar & o< #2
1. 359 3R IR # Ry R @
2. TR Afaar 3R At & et 7 39 BFER e W awd €
3. FIefeA FRATE F TR &
4. STAfeaaly Aerensit & fow SEHdT Jer FEd §

Correct Answer :-

47) roREdl ol & HfAH TOT qF HA-HA TAT FT AGARF WA g7 FT Tod B AT AR F FAS B H aRorfa waww shaw
¥ wft ol F R F7 3meF e gF A4nl aew vER & defaw aRsaR @ 9F & siefie Fwify J anfdw e A smerw aftads A R
oT| AHTATE oA # el 1§ off| FeAad FT 35T g TH A1l Lehardr saaedr et 9 AT @ off| waeEar AR gAEar & qew s
AN 3T AT A| FIW A TeTHitad & FaT AT F1 AW goea F 23w am

Swfe uRede ol uga 1Y 3w T vy &1 I« fafdu:

AIIAPROT F FiAF AFE F FROT FT § FqeT G TS 30 @ A7
1. Yolrardy egaear

2. FTH=CRITET

3. 3o 3TfashR

4. T9dFT AR FATAT

Correct Answer :-

« TAAAT 3R FHAAAT

LN

?Hﬂﬁﬂﬁﬁhﬁmmmﬂr«rgﬁrmmm*ﬁmﬁ?aﬁwﬁﬁﬁaﬁ@maﬂﬁ#mﬁﬁﬁmmmm
oT| AHTAUTE S A Tl a§ off| AeAdd FT 35T g TH A1 Cehardr swaedr et 9 oA @ off| waeEar A gAEar & qew s
A 3T T A B P ToTHIT F T e F1 AW qaed # &7r ami

Iwfad ufvede F1 uga R 3w Uy &1 IR fafaw:
MEIN & HIAR e FRT IRAF i F are aRader ame?
1. ohare

2. FAGSIEROT

48)memh$ﬂﬁwwmmﬁ-mmmmﬁwmaa§agﬁsmmmaam#aﬁwﬁm#rqﬂwﬁrmsﬁaw

3. HEIGe FT 3¢
4. e wifa

Correct Answer :-

49) 3reREd! el & HfAA TOT TF IHTA-HA TAT FT AGRS BfAST qga TS gol A ATl AGSWRYT F HiAs Fom Hr Rorfa Fawa shaer
& woft ol & R &7 reE e gF ATl Iew YER F defae ARSER @ 99 9 e Fifa F i o F e aRade ar
o7 AHEAUTE TSN A Felt a§ ot AeAdH FT 35T g T A1l YEhardt swawdr et 5 oA @ off| waeEar R gAear & Ao s
AN T AT A| B A TeTHita & FaF AT F1 A9 gevea T 2w am



Swfa uRede Bl uga 1Y T T vy &1 Sk @
ASHRT F HTAR FFa FROMET R F1 3rats Har?
1. AGSRROT & HiAS [ & HROT

2. {oliamér sgawar & HROT

3. FIFHCRATET & Yeo3{fH H ST & HROT

4. TgdT Rad & ROT

Correct Answer :-

« TSRO & HiAS AP &F HROT

So)mwﬁ*aﬁwmwmmﬁWWWmﬁamwmmwm#mﬁﬁmaﬁrqﬁﬁmsﬁaﬂ
a»'mﬁaﬁr#ﬁmmmﬁmmmaﬁﬁm#amﬁmaﬁwﬁwmaﬁmmmﬁr#mﬁ#mqﬁﬁﬁmﬁm
1| mnﬁt{vsaﬁﬂmﬁnéw mﬁmmﬁmwwﬂaﬁrmmﬁa@mzﬁ%maﬁtm#nm
IS I AT A1 WIE T TEAFT F T AT F A gered 2T )

Iwfad uivede &1 ygd 1 AT U Yy &1 IR fafe:
A F ITAR FFd Teet F FaaT Redsr &1 At g Brar?

1. IdSITIROT

2. sgdlq

3. HIHARIE

4. 1T AT TSThitar

Correct Answer :-

o B T TSTHITT

Sl)mawha;arﬁwmwmmﬁWWWmﬁamwmmwm%aﬁﬁmaﬁrmmsﬁaﬂ
a»'mﬁm’r#ﬁmmmﬁmwmmm$mmﬁwﬂlmm#mm#mqﬁﬁamm
aml mnﬁt{vsaﬁﬁmﬁnéam mmmmﬁmwwnmﬁmm:na%mzﬁ%ﬁwamaﬁrmm#a—qm
A I AT A1 WE T TAFT F T AT F1 A gered F T )

Iufad uivede &1 ug - AT T uy &1 IR fafe:
wqa Tregier & fav 3fa ddw & gwar 2

1. YolIarey egaear

2. 909 # FAdSEROT

3. %0 T ifd

4. e wifa

Correct Answer :-

« WY F AR

52) [FF3 ACH FEl TEGA AT o Fehell &2

1. ARG H

2. TaTemTer3t 7

3. fordlt ot Tue W

4. 7T |

Correct Answer :-

. R of TUe W

53) el gor I VA F VRIS AT YA H o oW &1 v@er @ar § 39 e # @ Sl @ s wwad §2
IRCIEE L))

2. 7 T

3. §UF AT

4. ST AT



Correct Answer :-

o JToT AT

54) ST YATE &aNI IR fFE FEE Y 9T FT a9 99T §7
1. 3THIRET

2. 35T

3. [ERR

4. AqH

Correct Answer :-

o 3TTRTIET

55) = oA 3EEROT ¥ -
1§ & FIg T

2. TRF-H HHA &

3. €T WA &

4, Hg AT &1

Correct Answer :-
o TF AT &7
56) 'qfere =X T IHSAT £, IH IFT H IRIEY AT ¢ -
L3 & FIg T
2.9~
3. qierg
4. T

Correct Answer :-

57) ‘9gd @A a1 A N1 W@ Fewr, BFa wET a1 §2
1. TF 3R | AR

2.3 RIS § O AT A

3. 54 g i dewar|

4.3¢ & g 7 |

Correct Answer :-

58) farem AR waTon gaRT Y - A T F W T 9FT ¥ 3w 3 FE 3@ FiT A g afFT Fed 2
1. YeT FBTOT s AfFc

2. 3toft @&ToT ersg AfeRd

3. JAISTeTaci o&ToT ereg QA

4. ST Asg AT

Correct Answer :-

. TS oeE afEd

59) {eIH F&T HIS T S § IAHT HaAd AThelol I A Fad HAF F41 Ageaqor 82

1. #Af@sw adeT

2. fof@a olem



3. HTYT-J9T I &TAAT
4. TATHIOT T S STThRT

Correct Answer :-

o STTST-YNET T &TT

1. IR 3I[0T
C 2
2. 3T 7T
3. yTE 907
4, AT 0T

9 9

Correct Answer :-



